TR2IFERR HBRARX 2

B & FEE

IHRHR | KEHTAESIRSR M LATKEERHTE (2050

BIHH | BERLABAR=ZTE11H15

w R kS ‘ & ‘ 1/3
auws |[o][][2][s][«][s][s][][s] s ][]
HRRES 18-37

E s B B K X & #

% T X

2
& )
o
B 60353050, %
ed:@ef 0> eg“‘/,, %,
BN <3
&’%4\/4%\/@."‘. <N
QATAT AN
INENE TL)\JL
&
%
%, 2
Gy, X
& % s ﬁi& Ko {
AN 0% &
N

LA ]

——O— > | BRARERRVEIEAA
——O— > | BERHKERRUES

— —>| BEkEE

—O | FRERRUBBAEHRARL
—O— | FREERVAA

FEH

S$=1:250

No.11 30x HOREZZ <> sh—)L

REE

[1o]200vU_1.2/100 7.00

No.10 90 XH115(HT 5k 1AL AFL)

[11]200VU_1.2/100 1.60

K
P g 15@.}5’%%20

Dy

[ EXE/NFK]

No1260x H103(BEEY 1% #% 5 k)




FER2TEERETE HRAX i)
2 & HEMTED (1/2)
IFns |KERTRERLIER M LUATKEERRISE (2050) ) - \ 'u‘I *;.: ]
e | AMELXBE=TE 1 1515 6t W B(1/2) 4t =1:100 [J:j(EJ’] F1X
& R B w | :l 2/3 =1:250
saws [oJ[1][2][sJl4][s Jl6 {7 e e Jlro][rs
nEEs
Ea B B oK X & #

e =3 60. 00m
55. 00m
— =
0 ~
50.00m |
[E=50. 567
DL=47. 00
= =
SHES [[J] T o]
& % @ 4500 © 20000 ®© 2000
A B 1.75/1*0 2.5/100 | LEvEL 3.0/100 7.9/100
SHRREIEEE | ofes| 200 | 200 | 200 [ 200 | 200 1.45[1.65 10.35 4115
_ ANFLRSIZEEHE | ofs|iosfpoef 2.00 | 200 | 200 06 lel 451,65 10.35 4115
BEREAKERQ0145F 12825R) Pr—
- mOE 3.083 3.685 0.000 2.351 3.815
WEES | HRALGEGH ’t'F =
RT= 0.490 0.586 0.000 0.074 0.12
MR LABESTE 1171 ACE
RS o
& Em  (4]9]. [5[8 e | 5338 8 8 ss55 3 2 2 =
i [ 0113 I 0,107
= gg 28 8 8 885 £8 88 g8 B
EE® B8 88 8 # 8 23 33 =3 2z g8
emmgERe | 82222 2 % BRE T OE = =
e s =55 =3 Py =3
t@ |3 T 7 zisEs : 2
HETHER § BN T i3 (RAIHET)
FIBTIER — LSPIE 168 P2 o | —
BT BATEE
ERTHER SHHATERL
T 1
A7 7L FE (ks tobon. B RI-40 t-25om) | 2914 (Co t=15cm, Pl RM-40 t=20cm) 1
WEIEEE=LE
TA/B




FR2TFERAE B AR 5

B A | KRR (2/2)

IHHE |KERTAERIRSR M LATKEEREBIE (X050)

wrsm | BARELXER=TE11%&15

W R B = [= = 3/3

it 10 I3 N 15 N | | N Y

BRAREE KA (20144 12525R)
BEES | HERARGH

ERELXBREITE11M

Z &=(m)  |4]9]. |58

it B B(2/2)

#t =1:100
% =1:250

60. 00m
55. 00m
— | I~
B — =— |
S ————— —
50. 00m @ ©200VU @ ©200VU
79. 0%o 79. 0%o
[E=50. 704 [E=50. 704
DL=47.00
SHES [1]
g & ®200vu o—1—® 2000
w5 B 1.2/100 o——1.2/100
SRR BE A 7.00 o—— 160
AFLFE BE A 7.00 1%
g 1.487 1.487
RT=E 0.047 0.047
RHE 0.001 0.001
- o = S 2
REBS . : 2o
i 0.107 | 1
BES : < 2z
8 8 8 8
s < s 2
BANERE g s s
3 M 3 e
T #® S S s 5
[EE] HIT 7 (REET) o—— Tz EmET
EEa L] p o
ZBTI1EA WRTRE T wpRE
BRI LHRATERL o——2WHATERL
BT
RS 2v))-bEA%E (Co t=15cm. B&#% RN-40 t=20cm) O——avh-bghsk (Co t=15cm. BEAE RM-40 t=20cm)
BRER
A EEEILE =L —— iR
AW NG — =

[ EXE/NFR]

b,
s
&

SEEY

(m)

04

15

453

512 ==

88l

3.6

[




TR 2 8 FEFKAR HRRAKX &) o N

% FEE - R - SR
B TOKERREE 1 LA
il TREEEHIE (209 5)
_ . _ AYRNT XYy .
WISF| — AEREAERSTE11E1S Ms 1 it 1:200
:F X #ER=1:500 M X #ER % 1:500
# R = EEIIEE
suzs| QOOOC N
BHRES
= 3 = B3
& E@ ‘E ‘ﬁ ‘E‘f
N m o &
BETREBERAER
O
O
No.5 90 x H277 (55 14B4A 3T A L)
EI% ¢ 150 h=121
No. 1 SEHESIH 2000 x H3. 450
No. 4 30 xH140 (NEUE £ > sh—)L)
(Bo8ALE)
TR — )L DP(0. 60) -
K% 675 DP (0. 60) -
JKEE ¢ 40 DP (0. 60) 50. 00 ]
No.3 30 xHI18 (hNEMEE 2 2 sk—)L) g
(5554 LE)
No. 2 30 x H116 (/NS £ & sk — L)
(BoRANE)
BEY—J)L3% DPO.60LLE
BESRFIKE ¢ 250
BEERFR/KE ¢ 250
4 . 45.00] 1E=47. 551
s‘ g
L ' Tt = BEE A 6500
No.6 90xH206 (BESE #17BAZL)
No.1 ZLEAF BHWE
@200VU 1.2/100 16.05 40,00
@200V 1.2/100 12.35 §200VU 1.2/100 22,90
@200V 1.2/100 5.70
(D200VU 1. 2/100 2. 70
No. 1 30 x HO4 (BEE% MNEIIE E 7 2ik—)L)
(Bo8ANE
60 x H 103 (BER B IEAEME) 1 >/ N— bk
200VU 1.2/100 1.60
i} _ ‘FL _ 51 _ FEAEL DL=35. 00m
O~ | FIREERUVEIEHEIAA
O | HREER UGB 90 x H115 (BESR S 1FEMALATL) A /3N — hakiE 2mEs @‘ @ l @ l @ l @
—=O Er—g NVNEHE T U ik—
FEREERWNEBETVR—IL = 200VU
—O— | BEREERUAA &R
HE 1.2/100
SR Es: 2.70|  5.70 16.05 12.35 22.90
AFLRABERE 2.70| 5.70 16.05 12.35 22.90
i 1.290
TR 0.041
~ — - S 5 =
FEILHE  wr=50 TME 0,001
T ® = e o B =
HEMES = = - - - - o
w w w w0 w0 w0 <+
f 1 ] ] 0.108 ] ] '
fERKER (ER21E10A218) i E §§ § § §§ §
s N 51150 HES s oo o o oo o
BEES BEER AFL o o< < < =< <
8 —— + + + + + 4
BERERKBER=TH11-1 2 £ 3 EmIER g ,<3 g ﬁ 8 ,2
+'|—4 o S o s S 5 3
ms  w | |5/1]4[1]0 = T =l i 2 82 5 2 53 8
o|ZAF=FL—F t=2.7) == [\eoss N N S oo Cl - —i -
§ 7 i - N AR KT (RMIET) [rosgeTsmnmETE £—UrR —Er—s AR
o & T &IR T8 - o) (o] -
#R e ki EET] HATHR -
- = G =—— 48375 ERTHEH SEHRTERL -
ERKER 3 8] %{ : o AT - -
& |1 s i 75 =t L L) ® R ) == G A (t=hem) -
BT = ERTER - -
— BRI HERIEESLE HERIEESVE - 8% WY
------- 1100 T EER T -
““““““““““ - . THREEEH 1A/8
2000 e DEEMAR | LIRR THE2 0 @620005 17 —7 L— b H=3. 51 BCofE Co t=10cn RI-40 t=150m)
HEEEo2 o) —k(C-18-8
BEREA (RC-40)






